Site: ST NEOTS Year: 2017
Estimated still residue
Monthly weight of work processed Monthly weight of solvent used Month(l)); ;?(:\I{ekn;f(;:;t;;% per kg (Use this to check the total for each
Month and Year method of st_iII cleaning e!gainst your
waste collection notes, adjust the final
I months figure as necessary to
a b correspond)
=b x 1000 +a
(kg) (kg) (g/kg) (litres)
42736 1381 19.20 13.90 20.0
42767 1296 19.20 14.81 20.0
42795 1454 27.20 18.71 20.0
42826 1964 35.20 17.92 20.0
42856 1711 27.20 15.90 20.0
42887 1803 35.20 19.52 20.0
42917 1217 35.20 28.92 20.0
42948 934 27.20 29.12 20.0
SEPT 2017 1608 27.20 16.92 20.0
43009 1325 27.20 20.53 20.0
43040 1376 19.20 13.95 20.0
43070 931 11.20 12.03 20.0
Annual totals 17000 310.40 240.0
n =Total b

Annual Spot Cleaning Correction
Factor (see Note 2):

(kg)

10

Total annual weight of solvent used

Weight of work required to comply
with regulations (kg):

16020

1. Refer to written explanation of regulations for more details.
2. If solvent borne spot cleaners are used, enter either 10kg in the *Annual Spot Cleaning Factor® or the total weight of the solvent content used, as advised by your Supplier.
3. The centre column provides the weight of solvent in grams emitted per kg of work processed (g/kg), this is needed to satisfy the legal requirement.

Annual total of solvent
emitted per kg of work

processed
P q
=Totalb+m =p x 1000 +n
(kg) (g/kg)
320.40 | Annual result 18.85
Complies with Regulations? YES




